
EMISSIONS DISPLACED DUE TO TRANSIT

RTD helps reduce CO2 

emissions in the Denver 

Metro Region by providing 

transit service. If every 

transit user drove alone 

to their destination 

instead of using transit, 

this would result in an 

additional 240,000 tons 

of CO2 emissions per 

year (equivalent to 27 

million gallons of gas).0
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Over the

last ten years,

2.38 million

tons of CO2 have 

been displaced

by transit 

Source: National Transit Database (NTD), Federal Highway Administration (FHWA), EPA 77




